CBT CLASS VI DECEMBER
QA & FEEDBACK

ENGLISH
1. Which of the following statements about Prabhat is NOT TRUE?
a) Prabhat always wanted to win.
b) Prabhat could not bear losing.
¢) Prabhat always played with a smile on his face.
d) Prabhat never knew defeat.
Ans: ¢) Prabhat always played with a smile on his face.
Explanation: Prabhat was very competitive and he used to play very seriously.
2. Surya was a good
a) cricketer
b) sportsman
¢) volleyball player
d) artist
Ans: b) sportsman
Explanation: Surya played all the games and sports in the true spirit of sportsmanship.
3. The story 'Change of Heart' tells us about:
a) sporting spirit
b) winning the game
¢) not to accept defeat
d) to be perfect in game
Ans: a) sporting spirit
Explanation: the story is about playing and enjoying games and sports, illustrating true sporting spirit
4. What is expression "When blue dark turns to black' mean:
a) evening turning to night
b) running very fast
¢) afternoon turning to evening
d) children playing in the evening
Ans: a) evening turning to night
Explanation: blue dark refers to evening and black refers to night
5.'Can't even catch my breath' refers to:
a) excitement
b) breathlessness
¢) tired
d) happy
Ans: b) breathlessness
Explanation: as a child is playing an also running very fast he is breathless
6. Which of the following is not a water body?
a) Stream
b) Pond
¢) Hill
d) Creek
Ans: ¢) Hill
Explanation: Hill is a landform.
7. What is the purpose of a diary entry?
a) To record daily events
b) To write fictional stories



¢) To communicate with others

d) To practice writing skills

Ans: a) To record daily events

Explanation: diary entry is made to record daily events or some special event that has occurred in the
day.

8. Which tense is commonly used in a diary entry?

a) Present Tense

b) Past Tense

¢) Future Tense

d) Conditional Tense

Ans: b) Past Tense

Explanation: In a diary entry, we usually write about the events of the day that has already occurred.
9. How many meaningful English words can be formed with letters CKIK, using each letter only once
in each word?

a)4

b) 1

c)2

d)3

Ans: b) 1

Explanation: With CKIK only one word KICK can be formed using the letters only once.

10. A group of ships selling together:

a) Cruisers

b) Navy

¢) Vessels

d) Fleet

Ans: d) Fleet

Explanation: Cruiser is a yacht or motor boat designed for leisure use.

Navy is the branch of the armed services of a state which conducts military operations at sea.

Vessel is a ship or large boat

MATHS
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SCIENCE
CASE 1

:if Condensation Ry ‘\\:\‘.
T ¥ ‘I \
W

7 L
I \Precnpltatna

)

Infiltration

round water store;



1)

2)

3)

4)

What is the process called when water vapor turns into liquid water and forms clouds?
(a) Evaporation
(b) Condensation
(c) Precipitation
(d) Infiltration
Answer: (b) Condensation
Feedback: The process of conversion of water vapor into liquid form is called condensation.
Which stage of the water cycle involves water turning into vapor and rising into the atmosphere?
(a) Precipitation
(b) Runoff
(c) Evaporation
(d) Transpiration
Answer: (c) Evaporation
Feedback:Evaporation is the process by which a liquid turns into a gas in all temperature.

What happens during precipitation in the water cycle?
(a) Water vapor turns into clouds
(b) Water falls from the sky as rain, snow, or hail
(c) Water is absorbed by the ground
(d) Water evaporates into the air
Answer: (b) Water falls from the sky as rain, snow, or hail
Feedback:Water that falls back to the surface of the earth upon condensing in the atmosphere.
During which stage of the water cycle does water vapor enter the atmosphere from sources like
oceans, lakes, and rivers?
(a) Precipitation
(b) Evaporation
(c) Condensation
(d) Collection
Answer: (b) Evaporation

Feedback:Evaporation stage of the water cycle does water vapor enter the atmosphere from sources
like oceans, lakes, and rivers?

5)

6)

7)

Which of the following is not a part of the water cycle?
(a) Evaporation
(b) Condensation
(c) Respiration
(d) Precipitation
Answer: (c) Respiration
Feedback: Respiration a biochemical process that all living organisms undergo to create energy for
life.
Paheli bought some vegetables such as french beans, lady’s finger, green chillies, brinjals and

potatoes all mixed in a bag. Which of the following methods of separation would be most
appropriate for her to separate them?

(a) Winnowing

(b) Sieving

(c) Threshing

(d) Hand picking
Answer: (d) : Hand picking
Feedback:Hand picking is the best method for separating the vegetables because they are big in
size.
Boojho’s grandmother is suffering from diabetes. Her doctor advised her to take ‘Lassi’ with less
fat content. Which of the following methods would be most appropriate for Boojho to prepare it?



(a) Filtration
(b) Decantation
(c) Churning
(d) Winnowing
Answer:(c) :Churning
Feedback:By churning curd the butter (fat) is separated which can be removed and the remaining
lassi contains less fat content.
8) Which of the following mixtures would you be able to separate using the method of filtration?
(a) Oil in water
(b) Cornflakes in milk
(c) Salt in water
(d) Sugar in milk
Answer:(b) Cornflakes in milk
Feedback:Cornflakes are insoluble in milk, hence can be separated by filtration.
9) Which amongst the following methods would be most appropriate to separate grains from
bundles of stalks?
(a) Hand picking
(b) Winnowing
(c) Sieving
(d) Threshing
Ans:(d): Threshing
Feedback:Threshing results in separation of grains from stalks

10) Four mixtures are given below.
(i) Kidney beans and chick peas
(ii) Pulses and rice
(iii) Rice flakes and corn
(iv) Potato wafers and biscuits
Which of these can be separated by the method of winnowing?
(a) (i) and (ii)
(b) (ii) and (iii)
(c) (i) and (iii)
(d) (iii) and (iv)
Ans:(d)(iii) and (iv)
Feedback:Mixtures of rice flakes and corn and potato wafers and biscuits can be separated by winnowing
because there is difference in weight of the two components one being lighter and other being heavier.

SST

1. Mountains can be recognised by udd fohd TR & Ugdlel ST Tohd o
(a) A steep slopes T T3 Gellel

(b) A gentle slopes Teh €fIX TolTel

(c) Narrow slopes Ueh HehIuT Tollel

(d) Medium slopes ALY Gellel

Feedback -Mountains can be recognised bya steep slopes .



2. Highlands with a lower height, less steep slopes and rounded tops are called GE=) 5dlé, FH ol 3R M
Tt aTel ITUTA I el ST o

(a) Mountain 9ad

(b) Valleys grfear

(c) Hills ggTI3aT

(d) Range QBQT»IT
Feedback -Highlands with a lower height, less steep slopes and rounded tops are called Hills.

3. At higher altitudes the trees give way to 3T ﬁ'lé’ X IS &l § I
(a) grasses 9TH

(b) grasses, mosses and lichens €TH, ﬂ”maﬂwrsarrr

(c) Pines YTSoT

(d) none of these S7H & EF% Ter

Feedback- At higher altitudes the trees give way to grasses, mosses and lichens

4. African Plateau is famous for 3TshIhr ToR UfligH 8:
(a) gold, silver e, rer

(b) gold, diamond @I?-IT, @Tr

(c) silver and brass ey 3 drder

(d) all of these 3T §3 & ToIT

Feedback -African Plateau is famous for gold, diamond.

5. Plains also support a variety of and

Heam i I vers 3R SrgEdaead:
(a) animals SITeTdY

(b) flora and fauna II€9Tad AR G

(c) plants e

(d) all of these 37 TT & forw

Feed back -Plains also support a variety of flora and fauna.

6. What is the main feature of a Civilisation? Teh T3=Jdr T ag@:r%@mm 1 %’:
(a) Nomadic lifestyle @TATIGNT SaTLlelr

(b) Absence of writing oi&eT ST ﬂﬂqﬁaﬁ

(c) Advanced urban planning 3=«Id QIE?T GRS

(d) Lack of trade SATIR T HAT

Feedback - The main feature of a Civilisation is Advanced urban planning

7. Why are the inhabitants of the Indus Valley Civilisation called 'Harappans'? ﬁﬁg T G$IdT & TAanfaar i
'gSTUTATAT AT el ST &

(a) They lived near the Sarasvati River d XAl 76T & 9T Bd &

(b) The city of Harappa was the first to be excavated §YCUT g Ug oIl WIGT AT AT

(c) They spoke the Harappan language @ ssbqlé AT S &




(d) They invented the first writing system :w-s\iﬁ Q%T»?f olddl Wﬁéﬁﬁ@r

Feedback - The inhabitants of the Indus Valley Civilisation called 'Harappans' because the city of Harappa was the
first to be excavated

8. What was the main reason for the decline of the Harappan Civilisation? agccrrs" HIIAT & Tcdel T HET PRUT
T AT:

(a) Invasion by foreign armies Tac2it TAT31T CART gHeTl

(b) Lack of trade AT T FHaAT

(c) Climatic changes and drying up of the Sarasvati River mmﬁWﬁﬂw

(d) Overpopulation STAIEAT a;qﬁr

Feedback -Climatic changes and drying up of the Sarasvati River was the main reason for the decline of the
Harappan Civilisation

9. What type of evidence suggests that Harappans were engaged in maritime trade? g YehIX & TT&T & 9T
T & R FFTUTATHT AALT SATIR H o191 g

(a) Discovery of airplanes ﬁTFI'I?-IT HrareT

(b) Large dockyards such as the one at Lothal U H I3 STh TS o

(c) Presence of submarines Wﬁ?ﬂﬁm

(d) Use of paper boats hTdTaT ﬁ ATaT ST 3TJTIT

Feedback -Harappans were engaged in maritime trade due to the presence ofLarge dockyards such as the one at
Lothal

10. Which crops were commonly grown by the Harappans? §SCUTaTdT shisT AT dol 31TH diT 9T 33md

(a) Corn and tomatoes HaahT 3i¥ THTE

(b) Barley and wheat 3!’?3-?\??1{

(c) Pineapples and mangoes 3TTH

(d) Potatoes and carrots 31Te] IR ISR

Feedback - Barley and wheat were commonly grown by the Harappans.



